LD Bazaar Fixed Salary Plan - Rs. 10 ka Dhamaka (Pre- Launch Date – 15 Aug, 2019, Grand Launch on 25th Aug)

India's No.1 plan and only plan which can make you millionaire



100% Legal/Genuine/Doable/Common Man's Plan



GOVERNMENT OF INDIA MINISTRY OF CORPORATE AFFAIRS

Central Registration Centre

Certificate of Incorporation

[Pursuant to sub-section (2) of section 7 of the Companies Act, 2013 (18 of 2013) and rule 18 of the Companies (Incorporation) Rules, 2014]

I hereby certify that MESKA MARKETING PRIVATE LIMITED is incorporated on this Eighteenth day of June Two thousand eighteen under the Companies Act, 2013 (18 of 2013) and that the company is limited by shares.

The Corporate Identity Number of the company is U74999DL2018PTC335505.

The Permanent Account Number (PAN) of the company is AALCM9168R

The Tax Deduction and Collection Account Number (TAN) of the company is DELM32364D

Given under my hand at Manesar this Eighteenth day of June Two thousand eighteen .

DESIGNATION OF STREET

Digital Signature Certificate Mr AJAY KUMAR MEENA

Deputy Registrar Of Companies For and on behalf of the Jurisdictional Registrar of Companies

Registrar of Companies

Central Registration Centre

Disclaimer: This certificate only evidences incorporation of the company on the basis of documents and declarations of the applicant(s). This certificate is neither a license nor permission to conduct business or solicit deposits or funds from public. Permission of sector regulator is necessary wherever required. Registration status and other details of the company can be verified on www.mca.gov.in

Mailing Address as per record available in Registrar of Companies office:

MESKA MARKETING PRIVATE LIMITED

USE NO 89 BLOCK F PKT 1 SECTOR 16, LANDMARK NEAR

EPUNEET GAS AGENCY, ROHINI, North West, Delhi, India, 110085





Dream



Reality





LDBazaar will make this happen



India's No.1 and only Company

- The only company to give daily bank withdrawal.
- Daily closing at 12 mid night and bank withdrawal through IMPS from 10.00 am to 4.00 pm.
- Daily zoom meeting and live seminar with 100s of members/leaders.
- 1st company to give Live chat support in MLM industry. Gives value to each and every members and solves their problem within 24 hrs.
- Sewa wallet Insurance to all your uninvited expenses and we support needy people.
- India's only company to give salary in Rs. 10 plan.
- All over India 100+ Franchisee and 6 Super Franchisee for easy distribution of fund.
 Franchisee list available on website www.ldbazaar.com
- Real networking plan which doesn't work only for making members but to make network which will yield you passive income lifelong. We also have 10+ other sources to make our members earn assured money.
- Product based and service based plan Product which is used in every household that
 is recharge and billing.

Why to join LDBazaar?

- Do you have any other confirmed plan which can make you millionaire? If yes the LDBazaar is not your cup of tea, otherwise LDBazaar is the best and only option for you.
- Liability free plan as you are getting Rs. 10 recharge coupon for your investment of only Rs. 10.
- 10+ other earning option which can earn you lakhs per month even if you don't refer anyone. That's the power of networking.
- Fixed Salary plan
- Rs. 46,800/ Rs. 1.5 lac Salary fixed lifelong per month without any investment.
- If you want to work in a real networking company then LDBazaar is the only choice available in India.

LD Bazaar Fixed Salary Plan

Earn from Rs. 46,800/- to 1.5 lakhs fixed lifelong income without any investment.

Rs. 10 recharge coupon against your investment of Rs. 10 - Liability free plan

Don't wait join now.

More you sponser more you earn.

2 direct Sponsor income till 5th level Bonus 7 direct Sponsor income till 10th level Bonus 10 direct Sponsor income till 15th level Bonus

Level	Level Members Rs. 10 distributed		Level Distribution	Income	Income Daily	Income Monthly
1	5	5*2	Rs. 2	10	10	300
2	25	25*2	Rs. 2	50	60	1800
3	125	125*2	Rs. 2	250	310	9300
4	625	625*2	Rs. 2	1250	1560	46800
5	3125	3125*0.50	0.50 Paisa	1562.5	3122.5	93675
6	15625	15625*0.2	0.20 Paisa	3125	6247.5	187425
7	78125	78125*0.2	0.20 Paisa	15625	21872.5	656175
8	390625	390625*0.2	0.20 Paisa	78125	99997.5	2999925
9	1953125	1953125*0.2	0.20 Paisa	390625	490622.5	14718675
10	9765625	9765625*0.2	0.20 Paisa	1953125	2443747.5	73312425
11	48828125	48828125*0.1	0.10 Paisa	4882812.5	7326560	219796800
12	244140625	244140625*0.1	0.10 Paisa	24414062.5	31740622.5	952218675
13	1220703125	1220703125*0.1	0.10 Paisa	122070312.5	153810935	4614328050
14	6103515625 6103515625*0.1		0.10 Paisa	610351562.5	764162497.5	22924874925
15	15 30517578125 30517578125*0.1		0.10 Paisa	3051757813	3815920310	114477609300
		Total		3815920310	3.8	1 Crore

Level	Members	Rs. 10 distributed	Level Distribution	Income	Income Daily	Income Monthly
1	5	5*2	Rs. 2	10	10	300
2	25	25*2	Rs. 2	50	60	1800
3	125	125*2	Rs. 2	250	310	9300
4	625	625*2	Rs. 2	1250	1560	46800
5	3125	3125*0.50	0.50 Paisa	1562.5	3122.5	93675
6	15625	15625*0.2	0.20 Paisa	3125	6247.5	187425
7	78125	78125*0.2	0.20 Paisa	15625	21872.5	656175
8	390625	390625*0.2	0.20 Paisa	78125	99997.5	2999925
9	1953125	1953125*0.2	0.20 Paisa	390625	490622.5	14718675
10	9765625	9765625*0.2	0.20 Paisa	1953125	2443747.5	73312425
11	48828125	48828125*0.1	0.10 Paisa	4882812.5	7326560	219796800
12	244140625	244140625*0.1	0.10 Paisa	24414062.5	31740622.5	952218675
13	1220703125	1220703125*0.1	0.10 Paisa	122070312.5	153810935	4614328050
14	6103515625	6103515625*0.1	0.10 Paisa	610351562.5	764162497.5	22924874925
15	30517578125	30517578125*0.1	0.10 Paisa	3051757813	3815920310	114477609300
		Total		3815920310		381 Crore

Level	Members	Rs. 20 distributed	Level Distribution	Income	Income Daily	Income Monthly
1	5	5*4	Rs. 4	20	20	600
2	25	25*4	Rs. 4	100	120	3600
3	125	125*4	Rs. 4	500	620	18600
4	625	625*4	Rs. 4	2500	3120	93600
5	3125	3125*1	Rs. 1	3125	6245	187350
6	15625	15625*0.4	0.40 Paisa	6250	12495	374850
7	78125	78125*0.4	0.40 Paisa	31250	43745	1312350
8	390625	390625*0.4	0.40 Paisa	156250	199995	5999850
9	1953125	1953125*0.4	0.40 Paisa	781250	981245	29437350
10	9765625	9765625*0.4	0.40 Paisa	3906250	4887495	146624850
11	48828125	48828125*0.2	0.20 Paisa	9765625	14653120	439593600
12	244140625	244140625*0.2	0.20 Paisa	48828125	63481245	1904437350
13	1220703125	1220703125*0.2	0.20 Paisa	244140625	307621870	9228656100
14	6103515625	6103515625*0.2	0.20 Paisa	1220703125	1528324995	45849749850
15	30517578125	30517578125*0.2	0.20 Paisa	6103515625	7631840620	228955218600
		Total	7631840620	763	3 Crore	

Level	Members	Rs. 50 distributed	Level Distribution (Rs.)	Income	Income Daily	Income Monthly
1	5	5*10	10	50	50	1500
2	25	25*10	10	250	300	9000
3	125	125*10	10	1250	1550	46500
4	625	625*10	10	6250	7800	234000
5	3125	3125*2.5	2.5	7812.5	15612.5	468375
6	15625	15625*1	1	15625	31237.5	937125
7	78125	78125*1	1	78125	109362.5	3280875
8	390625	390625*1	1	390625	499987.5	14999625
9	1953125	1953125*1	1	1953125	2453112.5	73593375
10	9765625	9765625*1	1	9765625	12218737.5	366562125
11	48828125	48828125*0.5	0.5	24414062.5	36632800	1098984000
12	244140625	244140625*0.5	0.5	122070312.5	158703112.5	4761093375
13	1220703125	1220703125*0.5	0.5	610351562.5	769054675	23071640250
14	6103515625	6103515625*0.5	0.5	3051757813	3820812488	114624374625
15	30517578125	30517578125*0.5	0.5	15258789063	19079601550	572388046500
		Total	19079601550	190	7 Crore	

Level	Members	Rs. 100 distributed	Level Distribution (Rs.)	Income	Income Daily	Income Monthly
1	5	5*20	20	100	100	3000
2	25	25*20	20	500	600	18000
3	125	125*20	20	2500	3100	93000
4	625	625*20	20	12500	15600	468000
5	3125	3125*5	5	15625	31225	936750
6	15625	15625*2	2	31250	62475	1874250
7	78125	78125*2	2	156250	218725	6561750
8	390625	390625*2	2	781250	999975	29999250
9	1953125	1953125*2	2	3906250	4906225	147186750
10	9765625	9765625*2	2	19531250	24437475	733124250
11	48828125	48828125*1	1	48828125	73265600	2197968000
12	244140625	244140625*1	1	244140625	317406225	9522186750
13	1220703125	1220703125*1	1	1220703125	1538109350	46143280500
14	6103515625	6103515625*1	1	6103515625	7641624975	229248749250
15	30517578125	30517578125*1	1	30517578125	38159203100	1144776093000
		Total	38159203100	381	5 Crore	

Recharge Monthly Dhamaka – Repurchase income on any recharge

Monthly Recharge Income (Re. 1 commission)

	. total		and the same of th			
Level	Team	Income	Once Time Income	Total Income		
0	You	0.4	0.4	0.4		
1	5	0.05	0.25	0		
2	25	0.05	1.25	2		
3	125	0.05	6.25	8		
4	625	0.05	31.25	39		
5	3125	0.05	156.25	195		
6	15625	0.05	781.25	977		
7	78125	0.05	3906.25	4883		
8	390625	0.05	19531.25	24414 2		
9	1953125	0.05	97656.25	122070 1		
10	9765625	0.05	488281.25	610352		
11	48828125	0.02	976562.5	1586914		
12	244140625	0.02	4882812.5	6469727		
13	1220703125	0.02	24414062.5	30883789		
14	6103515625	0.02	122070312.5	152954102		
15	30517578125	0.02	610351562.5	763305664		

Repurchase Income Calculation

Repurchase Income							
Level	Commission						
О	40%						
1	5%						
2	5%						
3	5%						
4	5%						
5	5%						
6	5%						
7	5%						
8	5%						
9	5%						
10	5%						
11	2%						
12	2%						
13	2%						
14	2%						
15	2%						

Repurchase Income

- Survey Per Survey upto Rs. 10 (Will be distributed according to Repurchase structure)
- Click Per Click from Re. 1 to Rs. 5 (Will be distributed according to Repurchase structure)
- Bank Account Per Bank account upto Rs. 50 (Will be distributed according to Repurchase structure)
- Shopping 1% se 30% cashback (Will be distributed according to Repurchase structure)
- Insurance Commission (Will be distributed according to Repurchase structure)
- App Download Commission (Will be distributed according to Repurchase structure)
- Gaming- Commission (Will be distributed according to Repurchase structure)
- Ticket Booking Commission (Will be distributed according to Repurchase structure)
- Repurchase Income 0 level se 15th distribution.
- Loan- Commission (Will be distributed according to Repurchase structure)

How will I get fixed income? – Magic Wallet

- Join with Rs. 10 and create your network for 10 days.
- From 11th day Re. 1 will be deducted which will be distributed in 15 levels.
- See the calculation below.

Level	Members	Level Distribution	Income	Income Daily	Income Monthly
1	5	0.20 Paisa	1	1	30
2	25	0.20 Paisa	5	6	180
3	125	0.20 Paisa	25	31	930
4	625	0.20 Paisa	125	156	4680
5	3125	0.05 Paisa	156.25	312.25	9367.5
6	15625	0.02 Paisa	312.5	624.75	18742.5
7	78125	0.02 Paisa	1562.5	2187.25	65617.5
8	390625	0.02 Paisa	7812.5	9999.75	299992.5
9	1953125	0.02 Paisa	39062.5	49062.25	1471867.5
10	9765625	0.02 Paisa	195312.5	244374.75	7331242.5
11	48828125	0.01 Paisa	488281.25	732656	21979680
12	244140625	0.01 Paisa	2441406.25	3174062.25	95221867.5
13	1220703125	0.01 Paisa	12207031.25	15381093.5	461432805
14	6103515625	0.01 Paisa	61035156.25	76416249.75	2292487493
15	30517578125	0.01 Paisa	305175781.3	381592031	11447760930

Magic Wallet

- Magic wallet will magically fix your upline's salary. Magic wallet is not for you.
- Rs. 10 will be deducted from the magic wallet for your uplin's salary.
- Rs. 10 daily, Rs. 300 monthly, Rs. 3650 yearly.
- If you have successfully completed 5 levels then your upline salary which he/she was suppose to get from you is fixed for next 2.5 yrs.

Level	Members	Level Distribution	Income	Income Daily	Income Monthly
5	3125	0.05 Paisa	156.25	312.25	9367.5

- Help your downline to fill their magic wallet as much as possible. This will fix your salary for years.
- Let me just show you one more magical thing

See the calculation to know for how many years you salary will be fixed on which level?

Level	Members	Level Distribution	Income	Income Daily	Income Monthly	No. of Yrs ki salary fixed
1	5	0.20 Paisa	1	1	30	3 Days
2	25	0.20 Paisa	5	6	180	18 Days
3	125	0.20 Paisa	25	31	930	3 months
4	625	0.20 Paisa	125	156	4680	1
5	3125	0.05 Paisa	156.25	312.25	9367.5	3
6	15625	0.02 Paisa	312.5	624.75	18742.5	5
7	78125	0.02 Paisa	1562.5	2187.25	65617.5	18
8	390625	0.02 Paisa	7812.5	9999.75	299992.5	82
9	1953125	0.02 Paisa	39062.5	49062.25	1471867.5	403
10	9765625	0.02 Paisa	195312.5	244374.75	7331242.5	2009
11	48828125	0.01 Paisa	488281.25	732656	21979680	6022
12	244140625	0.01 Paisa	2441406.25	3174062.25	95221867.5	26088
13	1220703125	0.01 Paisa	12207031.25	15381093.5	461432805	126420
14	6103515625	0.01 Paisa	61035156.25	76416249.75	2292487493	628079
15	30517578125	0.01 Paisa	305175781.3	381592031	11447760930	3136373

- If your downline has cleared 1st level then salary from him is fixed for 3 days.
- If your downline has cleared 2nd level then salary from him is fixed for 18 days.
- If your downline has cleared 3rd level then salary from him is fixed for 3 months.
- If your downline has cleared 4th level then salary from him is fixed for 1 year.
- If your downline has cleared 5th level then salary from him is fixed for 3 years.
- If your downline has cleared 6th level then salary from him is fixed for 5 years.
- If your downline has cleared 7th level then salary from him is fixed for 18 years.
- If your downline has cleared 8th level then salary from him is fixed for 82 years.

What do you mean by fixed salary from this person per month.

- For example your downline from 1st 4 levels has cleared 4th level of 5/25/125/625) he would get Rs. 4680 in his Magic wallet and this will fix your salary from him for 1.5 yrs.
- From 1st 4 level you get Rs. 2 level income. Now everyday Rs. 10 will be deducted from this person's magic wallet for your salary 2x365 = Rs. 730 this amount you will get for next 1.5 yrs.
- Whosoever will clear this level will owe you Rs. 730.
- If 625 people have cleared 4th level then Rs. 46800 per month salary fixed for 1.5 year.
- This amount will keep on increasing since these people will keep on clearing more levels.

There are other sources as well to fill the Magic wallet like click income, survey income, App download income, Ticket booking income Whenever minimum Rs. 365 will be earned it will be deducted from 1 year's magic wallet income

Magic Wallet ke fayde

- Your children's school fees will be paid by LDBazaar.
- Your parent's medical expenses will be paid by LDBazaar.
- SBI Personal Accident Insurance Death/Temporary Disablement weekly compensation (Rs. 1000 per month)/Permanent Disability upto 10 lakhs.
- Per month bike fund dega.
- Per month car fund dega.
- Per month house fund dega.

Magic Wallet Contd.

Magic Wallet									
Level Members Level Distribution Income Income Daily Income Monthly No. of Yrs ki salary fixed Expenses/Bike Fund/Care Fund/House Fund									
4	625	0.20 Paisa	125	156	4680	1	3000		
5	3125	0.05 Paisa	156.25	312.25	9367.5	3	5000		

- If you have cleared 4th level and you are getting Rs. 4680 per month in your Magic wallet then, you are eligible to get Rs. 3000 per month for your kid's school fees and your parents medical expenses along with SBI personal Accidental Insurance.
- If you have cleared 5th level and you are getting Rs. 9367 per month in your Magic wallet then, you are eligible to get Rs. 5000 per month for your Children's school fees/Medical expenses for old parents/Bike Fund/Car Fund/House Fund.

Sewa Wallet

- If you or anyone in your family is pregnant.
- If your daughter or sister is getting married.
- If you or someone in your family met with an accident.
- If you or someone in your team is suffering from critical illness like cancer.

Company will support from Sewa wallet and members in LDBazaar can willing support the other LDBazaar family member.

How much you will get is dependant on the level you have cleared and your tenure with LDBazaar.

If there is anyone in your family who is 18+ yrs old. Refer them in LDBazaar to take benefit of Sewa wallet.

Lifetime rewards



2019 ki Diwali ke rewards



Rs. 51 lakh cash.

Coming Soon (ID Upgrade)

Rs. 200 ID upgrade (Automatically through upgrade wallet)

Rs. 500 ID upgrade (Automatically through upgrade wallet)

Rs. 1000 ID upgrade (Automatically through upgrade wallet)

Terms and Conditions

- 2 direct sponsors you get income till 5th level.
- 7 direct sponsors you get income till 10th level.
- 10 direct sponsors you get income till 15th level.
- 15% admin charges.
- IMPS service from 10.00 am to 4.00 pm. IMPS charges as per bank.
- Daily withdrawal.
- Minimum withdrawal Rs.100.
- If you want to take services of Sewa wallet you have to have a ID with LDBazaar and fulfill all the conditions like 10 directs and ID should be updated in 20/50/100 plan.



SULOSCITIOCE Like, Comment & Share